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4. The EOQ model trades off order cosis vs, camyimg cosis,
b. Safety stock computations wade off stockout costs vs. carrying costs.
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(1} Lane Co. produces mam products Kul and Wu. The process also vields by-product 7ef,  Net
redlizable vatue of by-product Zef 15 subtracted trom joine producton cost of Kuel and W,
The tollowing information pertains to production i Tuly 2000 at a joint cost of $54,000:
pn;r:luct Units produced Markel walue  Additional cost afier split-off

Kul 1,000 $40,000 $0
Wu 1,500 15,000 0
Tef 500 7,000 3,000

It Lane vses the net realizable value method for allocating jomt cost, how much of the joint
cost should be allocated to produgy Kul?

{ 2 The Pally Co. wishes 1o delermine the amount of safety stock that it should maimain for
Product D that will result in the lowest cost, The fallowing information is available:

Stockout cost $E0 per accurrence
Carrying cost of safety stock 52 per unit
Mumber of purchase orders 5 per yedr

The avallable options open to Polly are as follows:
Units of safety stock Probabality ol running out of safety stock

10 S0%
20 0%
0 30%
A0 %
50 LO%
55 5%

The number of units of safety stock that will resclt in the lowest cost are?
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{3) Bimey Co. is planning 1ts advertising campaign for 2000 and has prepared the following
budger data based on a zero advertising expenciture:

Mormal plant capacity 200,000 umits
Sales 1 500,000 units
Selling price $25.00 per unit

Wariable manulacturing costs
Fixed costs:

£15.00 per unn
Manufactunng FRO0,000
700,000

An advertising agency claims that an aggressive advertising campaign would enable Birmey
to incresse 10 unt sales by 20%.

Sales and administrative

What 15 the maximum amount that Buney can pay Lor
advertising and obtain an operating profin of F200,000

{43 Kipling Co. invested in an B-yvear project.
project, net of income taxes, will be $20,000.
follows:

Present value of $1 at 12% for eight penods {1404

Present value of an ordinary anowty of $1 ar 12% for eight perniods 4 tal
Assurming that Kipling based 11s investment decision on an internal rate of return of [2%, how
much did the project cost?

It 15 expecled that the annual cash Hlow trom the
Information on present value tactors 15 as
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(%% The following standard costs pertain toa component part manufaciered by Ashby Co.:

Direct materials $2
[rect manufacturing labor 5
Factory overhead 2
Standard cost per wnit e

Factory overhead is applicd at $1 per standard machine hour. Fixed capacity cost 15 60% of
appled tactory overhead, and s not altecied by any “make or buy™ decision,

$25 per unil o buy the part [rom an outside suppher,

It wonld cost
In the decision w make or bey,”
15 the watal relevan urmt manufactuning cost w be constdered?
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3, The Jump-Start Division (JSD) of Mason Industries manufactures po-carts and other recreational
vehicles. J5D 15 considering building a new plant in 2001, The investment will cost §2.5
million.  The expected revenues and costs for the new plant in 2001 are:

Revenues 52,400 000
Variable costs B0, 000
Fixed cosis 1,120,000

Operating income  $480,000
ISD's ROT in 2000 is 24% and its retumn on sales (ROS) is 19%.  ROI s defined as operating
income divided by total assets.  The bonus of Maureen Grieco, the division manager of 15D, is
based vn division RO
REQUIRED

(1) Explain why Grieco would be reluctant to build the new plant.  Show your
COmpuations.

(20 Suppose Mason Industries used Rl to determine Grieco's bonus.  Suppose further that
the required rate of relurn on investment is 13%. Would Grieco be more willing 1o build
the new plant?  Explain,

{ 3} Suppose Mason Industries used ROS o determine Grieco's bonws.  Would Grieco be
more willing to build the new plant?  What are the advantages and disadvamages of
using RO5 to determine Grieco’s bonus.

{4 Indicate which of the following proposals do you think is a better way to evaluate

Grieco’s performance and why,  [a]Greico's compensation depends on the division™s R1.
[1] Greico's performance is evaluated by benchmarking RT of other compames in the

same industry and have comparable levels of tnwvestment. LA LG A




